
E 3602-0220

1

2

3

4

5

6

7

8

9
10

11

12

13

14

15

16

17

18

19

2021

21

21

20

22

23

24

25

26

27

28

29

30

31

32

17
CCD 2.0

 Hatz

33

34



E 3602-0220 

Position 

Ref.No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

Position 

Ref. No. 
Repère 

Posizione 

Posicion 

Menge 

Quantity 

Quantité 

Quantita 

Cantidad 

Teile-Nr. 
Part-No. 

No. Référence 

Nr. d'Ordine 

No. Referenzia 

Hinweis 

Hints 

Indications 

Indicazione 

Indicaciones 

1 1 11002529   30 1 25044003  DIN912-M6x20 

2 1 11001689   31 1 25048001  DIN125-A6,4 

3 1 21000008   32 2 21000749  0,085 m 

4 1 25025305   33 1 20029020  SKB 6 

5 2 11001733   34 1 25031036  DIN986-M6 

6 4 25038013  DIN933-M10x20       

7 4 20029033  SKM 10       

8 1 11001730         

9 4 21000589  DIN7964-M8x30        

10 4 20029031  SKM 8        

11 1 11001732          

12 4 25038009  DIN933-M8x30        

13 4 20029031  SKM 8        

14 1 11001917          

15 4 25038013  DIN933-M10x20        

16 4 20029033  SKM 10       

17 1 11001918         

17 1 11001919  CCD 2.0       

18 4 25033029  ISO7380-M6x16-10.9       

19 4 20022001  Tensilock M6         

20 1 11001688           

21 4 20025576           

22 1 11001768           

23 3 25033030  ISO7380-M6x20-10.9         

24 3 25048001  DIN125-A6,4         

25 3 20022001  Tensilock M6         

26 1 21000604           

27 1 21000605           

28 1 25049004  DIN440-R6,6         

29 1 21000632           
02.20


